llES

CE—-FH-R-1/ 11

HOER FHF
. RO Jin g% AL HE
el A SGEm i =
I R

TO00 PRl

U #il 126 — 120 - —

2 R 150 — 150 -~ —

3 HF 260 — 260 — —

4 FERME 460 — 460 — -

5 HE{RH 1,000 — 1,000 — —
JOO1 ~Zrial (EIE) 460  — 460 - —
002 Rk S B EC T 130 — 130 — —
1003 PR BN AT

I HERDLD 770 — 770 — —

2 BEBREAOLD 1,300 — 1,300 — —

1004 BRI BN F AT (Ll &) 1,300 — 1,300 — —
JO04—2 WO G - 1,300 - -
004—3 HOBIFENT (BiE) — 1,300 - -
1005 ' tEP R BRI R 110 — 54 — —
JO06 HE eI, B EN 110 — 110 — —
JOO7 SRE DI R TR 4,400 — 4,400 — —
joo8 . ERRMIEE N (= —UREE T, )

1 BHENZRAT 500 600 — 600 - -

2 MBI RESLD 1,300 1,300 — —
JO09 B PY I RRAT

1 345M1FHEE 400 — 400 — -

2 24D 1BEREE 800 — 800 — —

3 &% 1,600 — 1,600 — —
J010 BRI AT




W— P —al-2 / 11

, . "R gk B
i F A S SR sEM | G b=
1 fEL2H O (1FIT-0F) 3,000 — 3,0000 — -
2 WEERL D (2450 158RH) 4,000 — 4,000 — —
3 WL D (255D 1EELLE) 6,500 — 6,500 — —
Jo11 RSB R 3,000 — 3,000 — —
JO12 BB BB 1,300 — 1,300 — —
Jjo13 1 RN T & R AT
1 BHEEEREDERAF OGRS 140 - 140 - —
2 HARES 180 180 — —
3 BETEE. NERES 230 — 230 — —
4 BERUIEAE B A%
A 34D 1VFERBMOFEFHDED 750 — 750 — —
n 3450 1RLLEOFHEDLO 2,600 — 2,600 — —
N BEIChEALD 5,700 — 5,700 — —
J014 1 R RS BB T 700 — 700 — -
1015 1 e H AT 5230  — 5,230 — —
7016 I o R R T i 18,500  — 18,500 — —
J017 iR i
' 1 KGRI T 940 — 940 — —
2 FOHOLD 3,140  — 3,140 — —
JO18 T EMERE T AT
1 B0E 11,100 11,700| 5/1007N% =
I ] 31,300 — 32,900 5/100/n% Pl
7019 P SRR IS LT
1 OEHEICRFETLO 400 — 400 — -
2 HEREZEELD 6,720 — 6,720 — —
1020 N RSB 5,600 5,600 — —
Jjo21 O MR 0T ,
1 BOER (Biih) 5600 — 5,600 — —




- -B-3 /11

- RO I ”
i F WA SOERT BEM%| EmT | R =
29I &R 18,000 - 18,000 — —
7022 B O EZE RN '
1 BRNEDHOLD 8,500 — 8,590 — —
2 BOBCRSELD 14,300 — 14,300 — -
3 _FEREFEIDD 14,9000 — 14,900 — —
7023 B R A B B BT (2L F bl —)
1 6HEKMWDEE 1,700 — 1,700 — —
2 6L EDBE 3,400 — 3,400 — —
7024 N R T (R
1 OBEOHDBEE 7,800 — 7,800 — —
2 OEZBEREZHEIES 12,200 — 12,200 — -
3 BIEEEREENES 13,100 13,100 -~ —
J1024-2 RIBEEECFEIR (R
1 DECLOEA FHz - 11,700 — -
2 DEHREMAEEISE (Faw) — 18,300 — —
3 _BREER A (EDIE S (Fa%) — 19,700 — —
J024—2 BROEWKFEHT (Frax)  — 7,800 — —
J024—3 BURPERASEIT %) — 12,800 — —
J026 TR R R B IR AT 2,650  — 2,650 — —
J027 . O, B/ 450  — 450 — —
J028 EIEE (BB R 4,490 — 4,490 — —
J030 F S B 4 H i
o 1 RIS 910 — 910 — —
2 EDHDLD 3,370 — 3,370 — —
1031 NS EMERES FiT 18,700  — 18,700 — —
71032 B, 3R, B B B ERAT 37,700 — 39,600 5/100/W% 2iF
JO33 SFE A LA
‘ 1 KR ZERa R By 910 — 910 — —




H—F—5—4 / 11

s . Ao ik FEHE

ek F WA S SEE| SEM | S %

2 FDMDLD 3,370 — 3,370 — —
7034 S R R4 LT 4,730 — 4,730 — —
J035 SERE ISR PR R 10 17,300 — 17,300 — —
JjO36 % o BE S lad i iir 5120 — — — — HEOEHE

1 LRBICRFHTHHD - - 5,120 — -

2 EEERICRELD — = 14,500 - —
J037 AT O PR PR SEAT

1 fAERLO 50 — 150 — —

2 HEgEbo 1,000 — 1,000 — —

3 ELLHEERLD 5,800 — 5,800 — —
J038 A UIBRIT 112,000 — 12,000 — —
J039 LA RS T ‘

1 e 4,300 — 4,520 5/100/NH i

2 Yk 19,600 — 20,600 5/100/n& B

3 e 30,900  — 32,400 5/100/0E =i
1040 TR B BIBRA 7,660  — 7,660 — —
J041 TSR BER T 12,100 — 12,100 — —
J042 TR B T

1 Gk 18,000 18,000 - —

2 ke : 24,800 24,800 — —
7043 TR BT T (AR A RS, )

1 EE3cmAin 2,820 — 2,820 — —

2 FE#3cmll L 8,210 — 8,210 — —
jo44  EERIMBEEN 2,040 — 2,040 — —
J045 O MR 2,040 — 2,040 — —
7046  TERMADIERAR 1,700 — 1,700 — —
Jj047  EEEBREFRN

1 BERICRET b 600 — 600 — —




HF— =t —Bl—-5 / 11

i WA SKIEf WOE®| Em | i
2 BFICRELD
4 FRID3501RMOFEOL O 1,300 — 1,300 - —
7 o350 1L EDFHERHOLD 4,000 — 3,420 — —
J048 ) Z SEPE i '
1 BIRTHEE., & FIBE, emias HAOER
A 2enRiHDLD 180 — 180 — —
2 2emPl LScndi oD 300 300 - -
s~ SenBl EDRD 750 — 750 — -
2 BERSUTEAEEEER - -
A 3HOIEELU EoFEEObO Frix) — 2,600 — —
U AWIchiEbo ) — 5,700 —- -
1049 SEEFN 1,500  — 1,500 — —
J050 it A kA BRI B B T4 870 — 870 — —
JO51 ASFHECIBAPT 820 — 820 — —
1052 A ERERE AT 4,580 — 4,580 — —
053 W 15 T _
1 FIEHEDLD 640 — 640 — —
2 BEAEHEDLD 3770 — 3770  — =
3 BRENICFETALD 5,540 — 5,540 - -
J054 &= TR T 4,610 — 4,610 — —
J055 BE IR HE T 7,440 — 7,440 — —
1056 T IRIEE T T 7,410 -~ 7,410 — —
J057 BT IRESEEIE T 17,600 — 17,600 — —
JO59 B T IRIES 8 7
1 BT RRAIER T 16,100 — 16,100 - —
2 B THRELERS AT 18,400 — 18,400 — —
JO60 BT iR AR 0T
1 b 18,100 — 19,000} 5/100/m% |  Zifk




N - R e B
i F WA SR % mim | G =
. 2 2 27,300 28,700 5/100/0& L ia
1061 W 17 TR i B B B 0 900 900 — —
062 MR R & TRk =il 6,720  — 6,720 — —
1063 B SRR (345 150120 &)

1 Hi AR Mg 75— 200 — —
B or = 150 — 300 — —
3 HPEIERFN 300 — 400 — —
4 i PSRRI ol 600 — 1,000 — —
J063-2 BN (EBHENEET. )
| BEBBHE — —
A fHEELD (Frax) — 1,730 — —
n WNEebo #FH - 9,160 — -
2 EfEEBE FE) - 7,920 — —
J063—3 B (KE) SHARER Bt '
1 BER F® - 3,150 — —
2 F0fhoto (FiEx)  — 3,470 — —
7064 A E R IR BT (180X} 770 — — - —
1 HARPIRINZENHT #H) - 600 — —
2 A AN S BT sz — 600 - —
3 WS iz — 770 — —
4 EREN PR AT FHE - 770 — —
5 O FERTEIEIEST (BrE®) — 2,820 — —
J065 R 3T SRR M A BEAR AT '
1 12 HEICZob0 630 — 680 -~ —
2 3ELLEIZDESLO 21,300 — 1,300 — —
J066  EEEEITRMAYEEN
1 12l hiobo 1,300 — 1,300 — —
2 3tE ElcbhiESbm 2,700 — 2,700 — —

o — FEHF-Bl—6 / 11




. RO I
i F WA S S Grn | SR i
JO67 IR T IEEL AR T 1,570 — 1,570 — —
1068 LR EMAY T 9,010 — 9,010 — —
069 R R
1 BE#ikgas 11,900 —  12,500| 5/100/M%E i
2 MRS R OKRNEROES 20,600  — 21,600 5/100jmE FiF
JO70 BB HrEL M AYEE IR Y 8,930 — 8,930 — —
1070—2 HEEREHTINEER 17,100 — 18,000/ 5/100JnE =i
1071 TEER TR E mAYRIE 1,040 — 1,240 — —
J072 TR MBS FHT
1 hllosmé 10,000 10,000 — —
: 2 mEDEE 14,700 * 14,700 — —
J073 F eGR4 (A TH) =T
1 fHERLD 3 — 30 — —
2 WEERLD
4 EBEHEOLO 680 — 680 - —
= EEEDS O 1,290 — 1,290 — —
3 FELL WAL D 4,400 — 4,400 — —
JO74 HEPRY () & 1,300 — - e —
| fEERLD B O55E
A FiFEESEEF 025D 1HERERBOBE - - 850 - -
7 RN EHIChIAEE - - 1,680 — —
2 WEEeHo — —
A FIEEEREE O350 2WERERGOBRE — 2,900 — —
0 FiffESEE I DEAES - - 4,180 — —
1075  FERE RN
1 BERWERDOES 4,990 — 4,990 — —
2 BRI ROEBES 13,200 — 13,200 - -
3 BROBA 18,500  — 18,500 — —

B—Fi—8—7/ 11




w—EM—5-8 / 11

- e " Ha gk B HE
kel ¥ SER CH| KEH | KR W%
JO76 BRI 237 ey Fil 16,900  —>  17,700| 5/10040% =i
JO77 B R ER A F1 B i HyRE T T 410 — 410 — —
710738 S RAER I F LAY T4 14,100  — 14,100 — —
7079 SHBI AT 21,600 — 21,600 — —
7080 SHBA B F Eh I

| FEFRYEENR (S SRR LSS 990 — 990 — —

2 BHEGHE TIET 4,320 — 4,320 — —

3 B HEZ T 13,500  — 13,500 — —
Jjo81 ZH BN I AREEAL T

1 BHBIENSE T FIAREEALIT 12,600 — 12,600 — —

2 BRI AREET AT 17,000 — 17,000 — —
J0O82 HR AT M T (LR E)

1 AILHiRZAT 460 — 460 — —

2 FL—REAT 1,250 — 1,250 - —

3 BETA7Ih 1,700 1,700 — —
Jj083 WE A7 MERT

| 23D 1ERBEOFEOELD 2,040 2,040 — -

2 25 M1FELL FOFHB OO 6,270 — 6,270 — —
1084 AN e

1 fHA. JEERICET 250 (RERsemKim) 1,250 — 1,250 - -

2 FHH. DEERITET A0 D (BE5emPL E10cmAiH) 1,680 — 1,680 - -

3 AL IEECET 2L (FfR10emEL B) 2,000 — 2,000 — -

4 . ISR E LRV v D (B R Eemk i) 470 — 470 — —

5 . BRERISELV S D (BR5emPl E10cmZBER) 850 — 850 — —

6 AEHY, BEERITELRVE O (EE10emll ) 1,320 — 1,320 — —
J084-2  /NRAIEILIE (BRI

1 A, BRI ET 550 (BR2.5cmAk i) #Fax) — 1,250 - —

2 (R, BRI T AL O (BR2.5em) _EhemRi) (Brax 1,400 - -




¢ R Jii 7% BL e

ki F oz S 5 GEE SEM | e Wi

3 FFA. IREITET AL O (BR5cmbl_E10cmAiH) Gy - 1,850 - -

4 P, BERERHCE T 58 O (R 10cmbl 1) FHH - 2,200 — —

5 R, IBERITELR VB O (BE2.5cmANH) ¥z - 450 — -

6 FRA. IEERICEL2VHO (B2.5embL ESemaRiE) #® - 500 — —

7 F5A. BRERHOELAR VSO (ER5emBL 1 0cmAR i) (B - 950 — —

8 A, iR iT L A2V vh D (REZES5cmbh_E 10emA i) Fa - 1,450 — —
JO85 FIN)—R=

1 100 LBy F AP 1,020 — 1,020 — —

2 100 EFA—MLEL B3, 000 F o F AL A 2,300 — 2,300 - —
JO86 SR BR BT 1,920 — 2,000 — —
jO87 L BRIAR A T 5,120 — 5,120 — —
J087 —2 LRRIAKHTHEE Hf Ik i ik (Fa%) = 5,120 — —
088 Yo S i

1 FEE3cmEi 1,200 1,200 — —

2 EfE3omllE 2,880 2,880 — —
JO89 g, ST

1 25cm il 6,070 — 5,880 — —

2 25cm LA L 100c nd i 8,270 - 8,000 — —

3 100cnd LA_E200cnd i 15,400 — 14,400 — —

4 200cnill b 21,300 — 20,600 — -
JOS0 B S AAERT 4410 — 4,700 — —
7091 BRI, BN, BOWrIT. BB A FR AT '

1 25cnizRis 3,760 — 3,760 — —

2 25cnfll_E100cnt ki 6,830 - 6,830 - —

3 100criPi b 10,400 — 10,400 — —
J092 Ok (B0 Feflt. B (R Frify 21,900 — 21,900 — —
Jj093 WERE R (B TSR EOH ™) 40,000  — 40,000 — -
J095 AL 1,700 - 11,700 - —

W—EH—81-9 / i1




m , R ¥ g B
i F A S E A WE®| %M | KR fi%
J096 B FEAEE SRR B A G EE T m R &b o) 44,000  — 46,200 5/100/NE& B
jOg7 sl e 2 5010 —  — — —

1 AFEHEF AR _(FER - 5,010 — —
2 A FA—MUEL E Fix) = 5,500 — ~
J098 M R 3,130 — 3,130
J099 BRI IR ot 10,700  — 10,700 — —
7099 —2 MR RIBIIR. SR SRR B A B AR ) — T L B 10,800 — 10,800 — —
1100 M BT, A/ SABHE N
' | B, BEEEIR 36,700 — 36,700 — —
2 FOMOER 23,300  — 23,300 — —
J100—2 POLFREEREAL T —T L RE 10,800 — 10,800 — —
7101 AT 17,800 — 17,800 — —
1102 AR AR E EDBRIT (FE)  — 14,000 — —
7103 i = S R S B BR AT FER  — 4,520 — —
J104  BEJENEBHT HUEERER LT — -
1 BEReEFA-MLERMO BV SR B - 2,050 — —
2 RERRetE T A—M RO BN EIEE F - 3,230 — —
3 ER6ELFA—NMVLLED B M B A R E (B  — 4,160 - —
J105 B AR RZ R T Fix) - 9,740 — —
1106 SUE BB (F®)  — 2,570 — —
1107 S Y BA FLEASHHT Fz) — 1,040 — —
J108 AR Y iy A = — —
I FRYZbD (Hra%) 14,700 ~ —
2 @Rt (BT3%) — 26,000 — —
o ik ‘
199 o i, B
' 1 i B 1 (F - 200 — -
2 Wi EERE I Fm - 70 — —

W— - Bl—10 /711




, OB g B HE
ki WA S Sk wEm | K& %
7200 i) L

1 B i (200mL="2iT)
4 1i8H 750 — 750 — -
n 2E B L% 650 — 650 - —
2 {RAFMIiEEID (200mLI212)
4 1EH ' 450 — 450 - —
o 20E B LA 350 — 350 — —
3 ACmiri
A 6Ll LD BEDFE (200mLI L)
(1) TRIFEFEOEE ' H) - 200 — —
(2) BHETFOSS (FrR%) — 400 - —
D BRERDME DBA (KB 1kelo D) !
(1) WRBREDOBS Lo - 200 - —
Q) HEREDOHE (Fra&) — 400 — —
4 B O
14 RS LD BE DB (200mLT i)
(1) ERBETFEOEA 950 — 750 — —
Q) BWRERTEORE ’ | 190 — 1,500 - —~
7 BRI OBE OGS (FRE1kslz2EF4mLIkIZ)
(1) WIRBEORE 950 — 750 — -
(2) HREREDEE : 1,900 > 1,500 — —
5 Zfiimn (1M %) _ 5,250 — 5,250 - —
(FL#I)

B . RREECHGLUTWRWEESIIRIEE T 22 EL/ DT

5/100/0% : gﬁ%&%iﬁt:iﬁé\bﬂ%%ﬁi:%oﬂi\ 1007 D5ICHEYTAREEMEL, R EHEICEES L TWRWIBEIZH->Tik, 1004503012 Y 454
YRR T AL AF

o —FF-B—11 / 11





